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THIRD REVISION TEST -2025

Standard X Reg.
{7
MATHEMATICS . ,
e . Marks : 100
Time : 3.00 hrs Part - | § /} }) b 1
14x1=14
. Choose the correct answer:

f
1. If there are 1024 relations from a set A = {1,2,3,4,5} to a set B, then the number 0
elements in B is

a) 3 | by 2 4 d) 8
2. Iff: A Bis abijective function and if n(B) = 7, then n(A) is equal to
a) 7 b) 49 c)1 ‘ d) 14

3. Ifthe HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m is

a) 4 b) 2 o c) 1 - d) 3

4. Ifthe sequencet,, t,, t5, .......... are inA.P. then the sequence tg, t4,, tig, ........ s___
a)' a geometric progression b) an arithmetic progression

c) neitheran A.P.nora G.P

2X+1 3 i T
5. Find the matrix X if 5 7)"\9 5

-2 =2 2 2\ 1 2 2 1
S P BN A Y Y ()

6. The solution of (2x — 1)2 = 9 is equal to

d) a constant sequence

a) -1 ‘ b) 2 c) (-1,2) d) None of the above
7. Atangent is perpendicular to the radius at the . '
a)- Centre b) Point of contact c) Infinity d) Chord
8. The area of a triangle formed by the pomts (-5,0) (0,-5) and (5,0) is
a) 0 sq.units b) 25 sq.units c) 5 sq.units d) None of these
9. The value of sin 9+m is
a) tanZe b) 1 ©) cot? o d) 0

10. If the radius of the cyllnder |s doubled, the new volume of the cylinder will be
- times the original volume.

a) same b) 3 , - c)4 d) 2



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

1.

12.

13.

14.

15.
16.

17.

18.
19.

20.

21.

22.

23.

24.
25.

2 X Maths

The height of a right circular cone whose radius is 5 cm and slant heightis 13 cmis .

a) 12cm . ¢ .b) 10 cm c) 13 cm d) 5cm

Two poles of height 6 m and 11 m stand vertically on a plane ground. If the distance
between their feet is 12 m, what is the distance between their tops?

a) 13m b) 14 m c)15m d) 128 m

If the standard deviation of X,y,z is P, then the standard deviation of 3x+5, 3y+5, 3z+5
is . : |

a) 3P+5 b) 3P c)P+5 d) 9P + 15

Kamalam went to a play a lucky draw contest. 135 tickets of the lucky draw were sold.
If the probability of Kamalam winning is yg,
Kamalam is

a) 5 b) 10 c) 15
Part - Il
Answer any 10 questions. (Q.No.28 is compulsory)
If B xA={(-2,3) (-2,4) (0,3) (0,4) (3,3) (3,4)} then find Aand B

A relation f is defined by f(x) = x2 - 2 where x < {-2,-1,0,3} (i) List the elements of f
(ii) Is f a function?

then the number of tickets bought by
d) 20

10x2=20

Find the sum of the series 3 +1+ % , 7

Find the number of terms in an AP 3,6,912....... 111
Find the LCM of —9a3b2, 12a2b2¢

V7 -3
it A=[-5

2
then find the transpose -A
J3 -5

The perimeter of two similar triangles ABC and PQR are respectively 36 cm and
24 cm. If PQ =10 cm, find AB

Prove that secf - cosf = tand sing

Find the éngle of elevation of the top of a tower from a point on the ground, which is
30 m away from the foot of the tower of height 10,/3 m.
If the total surface area of a cone of radius 7 cm is 704 cm2, then find its slant height.

If the circumference of a conical wooden piece is 484 cm, then find its volume when
its height is 105 cm.
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3 X Maths

. Find the range and co-efficient of range for 63, 89, 98, 125, 79, 108, 117, 68
- Inaleap year, find the probability of getting 53 Saturdays.

. Find the equation of a straight line passing through the point (-1,2) and whose angle of
inclination is 450 |
Part - Il|
. Answer any 10 questions. (Q.No.42 is compulsory) 10x5=50
- IfA={1,2.3}, B={2,3,5), C = (3,4}, D = {1,3 5}, then prove that
(ANC) x (BD) = (A x B) n (C x D)

6x+1 if -5<x<2
2.0
A function f : [-5, 9] - R is defined as f(¥)=15%* -1 if 2<x<6

, find
3x-4 if 6<x<9

) 26(4) + f(8) iy 2 4"2f*f(26

. Determine the general term of an A P whose 7™ term is —1 and 16t term is 17

- x4 - 83 + mx2 + nx + 16 is a perfect square, then find the value of m and n

- A bus covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hour
more it would have taken 30 minutes less for the journe

y. Find the original speed of the
bus.

. Show that the angle bisector of a triangle are concurrent.

5. Find the area of the quadrilateral formed by the points (8,6) (5,11) (-5,1 2)and (—4,3).
. Find the equation of a straight line through the intersection of lines

7x+3y =10, 5x—4y =1 and parallel to the line 13x + 5y+12=0

: 2
. If cos ecB +cot® = P, then prove that COS6 = gz J

. The angle of elevation of the top of a cell phone tower from the foot of a high apartment

and the angle of depression of the foot of the tower from the top of the apartment
is 30°. If the height of the apartment is 50 m, find the height of the cell phone tower.
According to the rediation control norms, the minimum height of the cell phone tower

should be 120 m. State if the height of the above mentioned cell phone tower meets
the radiation norms.

is 60°

39. A right circular cylinder container of base radius 6 cm and height 15 cm is full of ice-
cream. The ice-cream is to be filled in cones of height 9 cm and a base radius 3 cm,’
having a hemispherical cap. Find the number of cones needed to empty the container.
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' with
40. A container open at the top is in the form of a frustrum of a cone of height 16 cmf pisl
radii of its lower and upper ends are 8 cm and 20 cm respectively. Find the cost o

41,

which can completely fill container at the rate of 240 per litre.
Three unbiased coins are tossed. Find the
2 heads.

probability of getting atmost 2 tails or atleast

42. Find the mean and variance of the first n natural numbers.

Part - IV

IV. Answer all the questions.

43.3)

2x8=16

petition the cash price will be distributed
elow :

A school announces that for a certain com
for all the participants equally as shown b

No. of participants (x) 2 4 | -6 8 10

Amount for each Participantin T (y) | 180 | 90 60 | 45

36

i)  Find the constant of variation
i)  How much each participant will get if the number of participants are 12
(OR) _

Draw the graph for y = x2 + 35 — 4 and hence solve x2 + 3x — 4 = ()

Construct a triangle similar to a given triangle ABC with its sides equal to 6/5 of the

corresponding sides of the triangle ABC. (Scale factor %)
(OR)

Take a point which is 11 ¢m away from the centr

e of a circle of radius 4 cm and
draw the two tangents of the circle from that point,

drdedr ok kdedrde
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1. Table: . . ) | } } ,
Mo of participants (1) ] 4 9(_'_,&,_”, o) } .
Amount for sah nma (A )
participants In s (yl | 0 | %0 |80 |45 % X amb LN b b
| - ;
2. Variation : B e el
| e ! !
Indirect Vanation - |
3 Egquation : . e wadk e |
Ty =k 1 :
ry =) = |BO = 35D | - 1oj )
ry = 360 "::
A Points i’. T
(2.180),(4,90),(6,60).(8.45.(10.36).(1230) —§ = | 1 v
5. Solution : - 11 |4m. I, wa)
) ' - + + ]
{i). Constant of Yaration k = 360 - .
{ii). Cash Price each participant will get i 12 | RO T T
participants participate = K 30 8 BN % AR AR g iy B
Solution :

Prepare a table for y = x¥ + 3x - 4

y =0 is the straight line of x axis

There fore, the solution for

¥4+3x-4=0is-4and1

Now y=x+3-4
0=x'43x-1 ()

v=0

cle
X axks - 1 ¢m = | unit
y axds Tem = 1 unit

104

X
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